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	Reason for change:
	TTCN is modifing SIB11 and SIB12 wrongly.

According to implementation in TTCN cell A frequency will be different than cell B frequency.  For cell A is used template c_SIB11_Intra0_Inter1 which is correct in our opinion. In cell B is information about cell A mentioned in intraFreqMeasurementSysInfo which is incorrect in our opinion.

With current TTCN implementation is not possible to update q_OffsetS_N for cell A. TTCN is changing “newIntraFreqCellList.[1].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0” but in template is present only newIntraFreqCellList.[0] – cellSelectionReselectionInfo is set to omit and newInterFreqCellList.[0] – cellSelectionReselectionInfo is define.

Similar situation is in SIB 12 in cell A.
TTCN modifies intraFreqCellInfoSI_List.newIntraFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0 but intraFreqCellInfoSI is set to omit.

SIB11/12 configuration in cell B is not correct too.

	
	

	Summary of change:
	Create new template c_SIB11_Intra0_Inter1_6314 where IE  cellSelectionReselectionInfo should be filled with template c_CellSelReselInfoSIB11_12_RSCP_Idle.

Use new template in lt_InitialiseSIB_CellA modify path to q_OffsetS_N for intra frequency – cell A. Add path to q_OffsetS_N for inter frequency – cell B.

Modify path to q_OffsetS_N and value in SIB 12 – inter frequency – cell B.

Similar change which are in lt_InitialiseSIB_CellA should be implement in lt_InitialiseSIB_CellB.

Remove ts_InitializeSIB11_12_SIB12_Idle ( tsc_CellB ) and use implementation from SIB 11 and SIB 12 from lt_InitialiseSIB_CellA.

In this case frequencies and q_OffsetS_N are inverted.
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	A conformant UE may fail the test case.
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1.1 Change 1
	Object name 
	tc_6_3_1_4: lt_InitialiseSIB_CellA/ lt_InitialiseSIB_CellB

	Reason for change
	TTCN is modifing SIB11 and SIB12 wrongly.

According to implementation in TTCN cell A frequency will be different than cell B frequency.  For cell A is used template c_SIB11_Intra0_Inter1 which is correct in our opinion. In cell B is information about cell A mentioned in intraFreqMeasurementSysInfo which is incorrect in our opinion.

With current TTCN implementation is not possible to update q_OffsetS_N for cell A. TTCN is changing “newIntraFreqCellList.[1].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0” but in template is present only newIntraFreqCellList.[0] – cellSelectionReselectionInfo is set to omit and newInterFreqCellList.[0] – cellSelectionReselectionInfo is define.

Similar situation is in SIB 12 in cell A.
TTCN modifies intraFreqCellInfoSI_List.newIntraFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0 but intraFreqCellInfoSI is set to omit.

SIB11/12 configuration in cell B is not correct too. 

According to our understading and test case specifiation - Test purpose:

Cell A

SIB 11:
newIntraFreqCellList.[0].cellInfo. -  cell A
newIntraFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0
newInterFreqCellList.[0].cellInfo.  – cell B
newInterFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=10 

SIB 12:
newInterFreqCellList.[0].cellInfo.  – cell B
newInterFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=10 

Cell B

SIB 11:
newIntraFreqCellList.[0].cellInfo. -  cell B
newIntraFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=10

newInterFreqCellList.[0].cellInfo.  – cell A
newInterFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0 

SIB 12:
newInterFreqCellList.[0].cellInfo.  – cell A
newInterFreqCellList.[0].cellInfo. cellSelectionReselectionInfo.q_OffsetS_N:=0 

	Summary of change
	Create new template c_SIB11_Intra0_Inter1_6314 where IE cellSelectionReselectionInfo should be filled with template c_CellSelReselInfoSIB11_12_RSCP_Idle.

Use new template in lt_InitialiseSIB_CellA modify path to q_OffsetS_N for intra frequency – cell A. Add path to q_OffsetS_N for inter frequency – cell B.

Modify path to q_OffsetS_N and value in SIB 12 – inter frequency – cell B.

Similar change which are in lt_InitialiseSIB_CellA should be implement in lt_InitialiseSIB_CellB.

Remove ts_InitializeSIB11_12_SIB12_Idle ( tsc_CellB ) and use implementation from SIB 11 and SIB 12 from lt_InitialiseSIB_CellA.

In this case frequencies and q_OffsetS_N are inverted.

	Source of change
	Modification
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